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2.) Reese has $225 in ten doliar bills and five dollar hills. The number of five dollar bills
ten dollar bills. How many of sach does he have?
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3.) Casey has 15 pounds of cas} ]
$2.50 per pound, haw many ponnds of peanuts should he add to the cashews to obtain 2

mixturs that will seil for $3.75 per pound?

B oof lbs of pearvs. G- medof ls oF »Ix

(53«\) P—:- :
&) g pm= )5+ P - — Jhog e § puwy
%
5.26 ¢ = ilgﬂ(f.%‘)* Z,FJP i Pﬂ::‘-ﬁ-.
¢ olpstn Brtor ) . 2 .
L) 3aslictR) = e I L0 e ,26 + 3. %p = 38
P o 25p

CarSery 5.|,.&~_>k.l a‘oja} |
B p= ME D M= BY

]'?5: “ab- .:‘a?—-d )Q'f-ﬁl'-"‘“'ff.
4.) Two years ago, Taz was three times as old as Gel will be in one year. In four years.,
Taz will be fifteen timea Gel’s age 1ast year. How old are Taz and Gel today?
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5.} Dory has a solution that is 65% boric acid and a solution that is 15% boric acid. How
much of each should she use to obtain 300ml of a solution that is 35% boric acid?
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Section: 5.3: Systems of Inequalities
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Section: 9.1: Roots and Radicals
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9.) Simplify 14

13.) Simplify
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Section: 9.2: Rational Exponents

15.) Evaluate /=32

17.) Rewrite +/312" using rational

exponents:

See

19.) Simplify ¥192a°h°¢’

21) Simplify 3,/2y (7,/10y +443)

23.) Simplify

x=3

x+3

.2

FAX NO. 206 870 4803 P.

n Turn 1%
u IVEL L=y

ke

4y o i fm e e
Lal) d1MPILY 2 =12 +~faf

—4
=4

L]

1 A N
1)
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16.) Evaluate #-222
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18.) Find x5 .x?

20.) Simplify 3128x +2316x* —¥/54x

22.) Simplity (52 —v3x )(54/2y +/3x )
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24.) Evaluate the expression [x - 7}

using only positive exponents.
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